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= ~Dakota Corporation began operations in January 2013 and purchased a machine
for $20,000. Dakota Corporation uses straight-line depreciation over a four year
period for financial reporting purposes. For tax purposes, the deduction is 50%
of cost in 2013, 30% in 2014, and 20% in 2015. Pretax accounting income for
2013 was $150,000, which includes dividend revenue of $20,000 from other
companys. There are no other differences between accounting and taxable
income. The tax rate is 20% for a]l years.
Required:
Prepare a journal entry to record income taxes for the year 2013. Show well-labeled
computations for the amount of income tax payable and the change in the deferred
tax account. (104°)
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A (104
Jones Co. prepares monthly income statements. Inventory is counted only at year end; thus,
month-end inventories must be estimated. All sales are made on account. The rate of mark-up on
cost is 20%. The following information relates to the month of March.

Accounts receivable; March 1 $21,000
Accounts receivable, March 31 27,000
Collections of accounts during March 90,000
Inventory, March 1 45,000
Purchases during March 58,000
Instructions
Calculate the estimated cost of the inventory on March 31. % Z EE,H{‘ ZE
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